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1 |dbiEE 7.4E-2 42E-3 0.1
2 | EHE 1.9E-2 6.6E-4 0.0
3 |EFE 1.9E-2 5.1E-4 0.0
4 |EHER 3.5E-2 1.3E-3 0.0
5 [FEE 1.5E-2 3.9E-4 0.0
6 (LB 1.2E-2 5.8E-4 0.0
7 |RER 2.7E-2 1.0E-3 0.0
8 |XHE 3.2E-2 1.1E-3 0.0
9 |HHKE 2.4E-2 2.0E+0 2.0
10 [BEER 3.7E-2 8.2E-4 0.0
11 [BEE 5.1E-2 41E-1 05
12 |FEE 5.2E-2 2.3E-3 0.1
13 |HEER 2.0E-1 3.8E-3 0.2
14 [#FE)IE 1.1E-1 1.4E-2 0.1
15 |Fiag 3.3E-2 9.6E-4 0.0
16 |=IWE 1.3E-2 41E-4 0.0
17 |[BINE 1.5E-2 6.1E-4 0.0
18 |f@HE 1.1E-2 3.9E-4 0.0
19 [LLEE 1.6E-2 41E-4 0.0
20 |[RHE 2.5E-2 1.6E-3 0.0
21 [IKEIR 2.3E-2 1.1E-3 0.0
22 |ERRER 6.2E-2 2.7E-3 0.1
23 |BHME 8.6E-2 3.6E-3 0.1
24 |=ER 3.0E-2 7.3E-4 0.0
25 [#ER 1.9E-2 1.1E-2 0.0
26 |FABAT 2.8E-2 1.4E-3 0.0
27 | KB AF 1.2E-1 3.0E-1 0.4
28 |EER 7.7E-2 2.0E-3 0.1
29 |=BR 1.7E-2 3.3E-4 0.0
30 [F0FRILIE 1.9E-2 2.5E-4 0.0
31 [BEWE 8.1E-3 2.8E-4 0.0
32 |[BRE 1.1E-2 3.9E-4 0.0
33 |EWE 3.6E-2 8.5E-4 0.0
34 [LBR 4.9E-2 1.6E-3 0.1
35 [lwOg 2.8E-2 6.3E-4 0.0
36 [EER 1.4E-2 3.5E-4 0.0
37 [FINER 1.7E-2 5.8E-4 0.0
38 |EBIRE 2.4E-2 6.1E-4 0.0
39 [EHIR 1.4E-2 3.7E-4 0.0
40 |1ERR 6.6E-2 3.1E-3 0.1
4 [(EER 1.1E-2 6.0E-4 0.0
42 |RigE 2.4E-2 6.8E-4 0.0
43 [BERER 2.5E-2 1.2E-3 0.0
44 |KHR 2.7E-2 4.6E-4 0.0
45 |EIFE 9.2E-3 1.1E-3 0.0
46 |[ERER 2.1E-2 1.7E-3 0.0
47 |HBE 2.6E-2 5.8E-4 0.0
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